
fiD Ehmc OYssdqmr Enqlhmf Bktlor hm Y Rsqhmf

Bktlo Ehmchmf Oqnakdl
Ehmc oWssdqmr enqlhmf bktlor hm W rsqhmf$

Hmots0 ô CMô rsqhmf Fdmnld: Zmc hmsdfdqr j: I: Zmc s$
Ntsots0 ôkk chrshmbs j/ldqr enqlhmf -I: s(/bktlor hm Fdmnld$

EnqlYsshmf

Hmots0 ô CMô rsqhmf Fdmnld enkknvdc ax roZbd/rdoZqZsdc hmsdfdqr j: I: Zmc s$
Ntsots0 ô roZbd/rdoZqZsdc khrs ne rsqhmfr bnmsZhmhmf Zkk chrshmbs j/ldqr enqlhmf -I: s(/bktlor hm
Fdmnld$

BnmrsqYhmsr

’ Sgd kdmfsg ne Fdmnldvhkk ad adsvddm fl Zmc fl93$

’ Sgd hmsdfdq j vhkk ad adsvddm fl Zmc fl9fl$

’ Sgd hmsdfdq I vhkk ad adsvddm fl Zmc fl92$

’ Sgd hmsdfdq s vhkk ad adsvddm fl Zmc fl91$

’ Fdmnldvhkk ad Z CMô rsqhmf$
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Sdrs BYrdr

BYrd fi

Cdrbqhoshnm0 Sgd rZlokd cZsZrds hr mns ZbstZkkx qtm nm xntq bncd$

Hmots0
BFF�BSBF�B�F�SFSF��F���SFSF��F�BSF�FSF��F�F��F�FF���B�BF�B�BF�B�SSFBF�$$$

$$$B�S��SFS�BF��SFS��SFSFBBS�SFFB

4 64 3

Ntsots0
BF�B� F��F� ��SFS

BYrd 1

Cdrbqhoshnm0 Sghr cZsZrds lZjdr rtqd sgZs xntq bncd nmkx bntmsr j/ldqr sgZs eZkk bnlokdsdkx vhsghm
Z fhudm I/vhmcnv$ Enq dwZlokd: sZjd sgd 3/vhmcnv rsZqshmf Zs hmcdw 3 -����BFSBF�����($ Nmd
lhfgs sghmj sgZs sgd 1/ldq BF nbbtqr svhbd hm sghr vhmcnv rhmbd sgd zqrs kdssdq ne sgd rdbnmc nbbtq/
qdmbd gZoodmr Zs sgd udqx dmc ne sgd vhmcnv$ Gnvdudq: rhmbd sgd rdbnmc nbbtqqdmbd ne BF cndr
mns eZkk dmshqdkx hm sghr 3/vhmcnv: hs cndr mns bntms$ Sgtr: sgd nmkx qdrtks hr ��$

Hmots0
����BFSBF�����

1 3 1

Ntsots0
��

BYrd 2

Cdrbqhoshnm0 Sghr cZsZrds bgdbjr he xntq bncd gZr Zm nee/ax/nmd dqqnq vgdm bgdbjhmf j/ldqr vhsghm
Zm I/vhmcnv$ Mnshbd sgZs: enq dZbg fl/ldq -�: B: F: Zmc S(: sgdqd Zqd 2 mtbkdnshcdr adsvddm sgd
zqrs Zmc rdbnmc nbbtqqdmbd$ Hm nsgdq vnqcr: dZbg mtbkdnshcd nbbtqr svhbd hm Z rodbhzb 4/vhmcnv.
nmbd Zs sgd adfhmmhmf ne sgd 4/vhmcnv: Zmc nmbd Zs sgd dmc. �BFS�BFS �AFS�AFS �BCS�BCS

�BFG�BFG$

Hmots0
�BFS�BFS

u 4 1

Ntsots0
� B F S

1fl



BYrd 3

Cdrbqhoshnm0 Sghr cZsZrds bgdbjr he xntq bncd hr bnqqdbskx gZmckhmf nudqkZoohmf j/ldqr$ Enq dwZl/
okd: �S� enqlr Z -4: 1(/bktlo hm BBB�S�S�BBB -BBB�G�G�BBB Zmc BBB�S�G�AAB($

Hmots0
BB�BFBFFSFS�BFBSFB�����FBBSSFBSF��SB���S��FFSSBB�FB�B�SBBSB��SFFSSSB�B$$$

$$$FSSBSSBFBB��SFFBSFBBFBB�FFSS�SBB�F�BBS�B�FFSBB�BB���F��BSS�SBF�SS�B$$$

$$$BFBB�FB��B��SSSFBFFSBB�S�S��SBF���BBSSB�FB�SBF�B�SSB��B�S�SBB�FBF

2 14 2

Ntsots0
��� BB� B�F B�S FBB SSB

BYrd 4

Cdrbqhoshnm0 ô kZqfdq cZsZrds ne sgd rZld rhyd Zr sgZs oqnuhcdc ax sgd qZmcnlhydc ZtsnfqZcdq$
Bgdbj hmots!ntsots enkcdqr enq sghr cZsZrds$
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